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li 
j'qt*''' U.luhut

nrywlp ,

33621290 hqfhh$pbL 1,82ilq/il1, 1dp rurfqnr_1 +< rurJul. + 20 t

33651 1 25 Uqlrppnrfhshl, 250dq +< 4hrlurqrutn * 30 lr

33651 1 25 Uqfrppnrfl,gl.l, o2 200rlq/5ri1 +< up{utt * 20
33621 390 Urifrnrlu:pnh 200dq +< 4hrlurhu-rur * 4500 *

33621762 Udlnalrqfrtr 5.Iq +< rlhrpuhurur * 12000
33621740 Uriinrl|rqhtr 10 rlq +< 4hrpuhurn * 15000 l*

33651252 Uhtuurnpnqnl 1 ilq +< 4hrluhurur + 370
33621710 Utnhhnpnp 50 ilq +< 4hrluhturn * 3600
33621420 Utnnp{uruurururfrh +O Uq +< 4hrluhunn x 2400 *

33621420 Uurnptluuurtutnfrh 20 dq +< 4hrpuhruu * 6000 *

33621420 Urnnpiluruurururfrh t O rtq +< 4h4urhu-nn * 1000
33661 1 21 U g hmfrluu t]r ghLutppnr_ 1 O O trq +< qhrlurhuur * 12000 *

33651 1 70 Ugft\L"rlhp pu. urph 3orrq/q +< qrupllnr-d ,F
10 *

33651 1 1 1 Udopufrgfrfrb zsouq +< 4hrluquru rt 240 *

33651 1 1 1
Uilo p u fr gfrfrh p pu r{n r_pru tr tu ppn-
acn.r /r.f. a1 E.f - /r f +< un{urt1 * 30 lf

33621761
u g EulFlu ur fr gfrpuppnr_,
fwqb bqh n ulh h fi rypopu lt a

+< 4hrlurhruur
,i 40000 *



33651 1 1 1 Uilop ulr ghfrtr p 1ur {nr-1urtrurffi +< untlur\ * 30
33651 1 1 Uriop uh gfr [rh2 5 0 tiq/S tf 1 +< up{utt rl.

25 tk

336 t 1 114 UilfrtrnSlrftLl 50tiq +< 4hrlurhurur * 2400
33631 21 0 trhtntutlhpruqntr t Uq/q +< qup\nr-d * 30
33631 230 tlnrftr4nLr 3n4 I OOdq/rt1 +< uptltut1 f 35 *
33621720 trfrunqpnlnl 2.5dq +< 4hrlurhunn * 1080 )t

33621720 tr|runqpnlnl 5dq +< 4hrlurhturn + 15000 *
33621720 tr|runqpnlnp tOLIq +< qhrluhurur * 7500 *

33651 1 31
UnrpSunfhfdopuruqnp, urplrilhpnulFhrl
800dq +160tlq +< 4hrltuhutn ,F

60 t(

t
33651 1 31

Unrp$tuilhfdopuurqnp, -p|r,ihprrqpirrt
4OOrlq + BOtlq +< 4hrlurhutrr * 120 *

33651 1 31
Unr-$ruilhpopuurqnl,
tnphilhpnut phd200/40; 1 20ilr +< up{ur11 {( 30 *

33031 260 3n4 5Odq/d1 +< un4uh I * 35
33661 1 53 'Ihpuuilhuuuqnh adq/rt1, 1 d1 +< urdulnr-1ur x 100 *
33661 1 53 r upuruu trrnruqnu ru qUtu qurp. 1 dq/d1, +< up{tu\ * 118
33621 380 'Ifrqopufrtr 0,25dq q<

4hqruhurtn * 6000 tF

33691 21 f hnudhh t Zhu q hnfr4frh+ 5 O uq+ 5 O rrq +< 4hqurhrur.n * 900
33631 31 0 ]ir\lnghhu\50ilq +< rlhrlurhrutn * 7500 It

33631 31 0 ]f \lnShbur\ 4nb4nr1 I Otrq/q +< qrup\nd + 110
33631 31 0 ][!pnghhul\ r1nh4nr1 sodq/q +< qurpQnr-d * 450 *

33631 31 0 If\pn$hhu\ 25 rfq/il1, 3rI1 +< ruilqnr-1tu * 150 *

3361 1 170 
l'Ifrntnun{hpfrh +Orrq +< 4hrltuhuru rr

6700 *

3361 1 170 l.Ifrntnun{hpfrh BOilq +< qhrltuhruur * 720
33621 41 0 

| 
Uhdquuuutnfrtr 20dq +< | 4hrluhuln * 900 t(

33621 700 Llhtnnqpnlnl 25tlq +< 4hrlurhurn * 5160

33621 700 l.l"htnnqpnpnl 50ttq +< 4hrltuhunn )r
720

33621 760 hhurluqpfrl Stiq

hhulurqplrl 1Oilq

+< 4hquhrutn ,fi
2000 tt

33621 760 +< 4hrlurhuln + 6600 i

33621 760 hhurLruqphL 20ilq +< 4hqtuhrurn rfi 10000
33621 520 hhtupuqphl+hlr+pnplnplahurq.hr1 1 Orlq

+2$tq +< 4hrlurhurtn * 12000

33600000 hplrppntifglrL u\hupu. 1 Oridq +< qup\nr-d * 20 *

33631 250 hprul-rnp 96% +< t-n t 40 it

33631 250 hpurhn170% +< thurp * 30 tr

33oti1 156 Ith:lrntry S[q/[t +< un{urtt x 180
33631 290 hpnrqnn$hh 20tlq/rl1, 1 00ti1 +< 22h\ x 30 *



33631 290 hpnr-qpnghh 200riq +< 4hrltuhruur * 1000 It

33631 290 hpntqpnShh 400rlq +< rlhrluhunn * 4s00

33631 290 hpnr-qpnShh 600tiq +< 4hrluhurtn * L080 *

33691 203 Lnqurpunutr 25rlq +< 4hrpuhuur * 720 *

33691 203 Lnqurpuruh sOrtq +< 4hrlurhum * 5600
33691 203 Lnqurpuuuh tOOUq +< qhrluhutn * 8400 *

33671 1 31 Inpurunu4frh tOrlq +< 4hrltuhurur
* 600 *

33661 1 1 6
Llrfln\tuj frL 1n L6n 11 p b bp urp ! duL 20 rtq/1l1,

2,J 
L

+< tudqnr-1tu x 100

33642230 t-hnpfrpopufrb r oO Llqq +< 4hrluhunn * 4500 t(

33621 51 0 9tuqurnqpfrl 25rlq +< 4hrlurhurtn
:f 4640 *

33621 51 0 "Iruultrrnulpfrl 50rlq +< 4hrltuhiutn * 9060 tt

33621 690 ttup{hafr1n1 25LIq +< rlhrlurhunn * 8800 It

33621 690 9uprlh+lrtn16.25 rtq +< 4hrpuhurur * 3600
33621 690 qtuntlh+h1n1 12.Sdq +< 4hrpuhurur * 6000 *

33621 370 hqnunppfr4fr ilnhnhfrurpurtn 20dq +< 4hrltuhuru * 15000 *

33691 231 Qru1gfrnril, fun1h\urLgh$hp"L q<
4hrlurhurtn * 1,4400 Ir

33631 300 khurnqpnShh sortq +< 4hqtuhrurn + 1,200
33651 148 9lntnfrtrdurqnl hpp. IOtlq/q; I5q +< ultup!nr-d * 10
33691 1 86 tlhptughtnruil BO0ttq +< 4hqruhutn * 5100 *

33691 1 86 tlfrprughururil 400rtq +< rlhrluulurur
hx

* 9360 *

33691 1 96 Ofruqhpfr4nh 2dq +< 4hrlurhurtn x 720 *

33621140 \1nqfr4nqph1 TsrJq +< 4hrlurhtuur
)F 9000

33621750 t,h$h+hqfrtr1Oilq +< rlhrlurhutn x 3000
33621 360 Llnnpnqfrghnhh 0.Stiq +< rlhrlurhruur * 800
3361 1 1 50 tlurh\phrutnfrh tSOUq +< 4hrlurqurur i( L0000 *

33691 124 'tlfrpruhtrrhl 25Orlq +< 4hrlurhunn * 15 r*

33621 580 Zfr4pnplnpnfahru qh4 25 rrq +< 4hrlurhurtn * 900 *

33621 640 Zfr4pn\npurfrqnh 5 riq/q; 3q +< qurp\nr-d * 50 *

33642220 Uhphlqphrltrlrqnpnh adq q< 4hrluhurn ,i L440 *

33661 1 33 Lhn4nqtu, h*pph4nulul 25dq+250rtq, q< qhrpuhtuur x 11000

33691 1 29 Lurtnpfrnr-,ih pi"ph+ 0.9%, 1 00rt1 +< uptlu\ {( 20 Ir



33691 238 'tlurpurghnunfnp 500 dq +< 4hrltuhruu * 2000 *

33642210 Aphqtrfrqnyntr 5dq q<
4hrluhunn * 1800

33671 1 1 3
Uurpnr-ururfnpl 00ti\q/r1h{ur:uqr,
200 4hr1u:ulh +< gnqurghfr

2h2runtirutr
* t70 t*

33691 200 Uhtrnqlr4hhp t3.5rtq +< 4hrlurhurtn
,l

4000

3361 1 21 0 UntlSruuruluqhh 50Odq +< 4hrpuhutn * 1560
33021 1 1 0 '{un$uphh suq +< 4hqurhruur * 2000 *
33621 1 1 0 1*p$*plrh 2.5tlq +< 4hrltuhrutn * 1800
33621 620 t L-Lqfrpntrnltu \ urnh Zs uq +< qhrltuhuur * 9560 t<

33691 231 tun1h\tupgfrghpnll 5000 UU/1 ili. 1 Ori +< untlurll + 1000
33651 253 Stuilopufr$hh 2oJq +< | 4hrltuhtuur * 3000 *

33661 1 52 hurpugtr!*rh r OUqlq, 3q

htnptu\urlhb 10dq/d1

+< qup\nrd * 70 *

33661 1 54 +< up{ru\ * 12 lk

33671 1 1 I llurpur ghtntudnl 1 25 rlq/Sr11 1 0 0 rJ1 +< up{urtt * 30 *

33651 1 1 B 3h$rnphurpunh lOOOttq +< untlurh * 10
33651 134 Sfrqpn$lopuurgfrtr 3rJq/d1, unrtutl +< up{utt * 136 *

33671 1 1 6 €ulrlnilhunuqnfblr h/p 0.5rtq/1r1,1 0tr1 q< un{rull * 40 rt

3361 1 100 lodhqpuqnp 20dq +< 4hrltuqrutn
hd

* 7500 t(

33621210
bph*p qrupnr_hu\nr1
hturiur\gnr-p1nr-tr 50 rtq/5 d1; 1 0 0d1

+< 22b\ ,fi
20

33621 730 .thpurqruilfrp aOdq +< 4hrpuhurur
)F

3000 *

33600000 Shpnqnl SOrtq/d1 +< up{ur\ )F
20

33600000 $1nr-tnfr\uqnl-r 2tr2. 5 0 d Q q/4bqur1 L! ql +< hrurn +
5 Y(

33621 590 Snrpnuhrlfr4 aodq +< 4hrlurhuur x 8400 *

33631 1 00
Llir\nhuqnl 20rtq/q, ugnLrtfrLb qup!n16,
15.0 +< qurp\nr-d * 10

33651 1 50 $1nr\nhruqnl 50rtq +< 4hrlurqtuur
L1

* 24 *

33621 730 Sunlunr-lnnqhh O.4tIq +< 4hrlurhruur
,F

5400

33661 1 54 S hppfrtrtuQfrh rlnt-rr1nr1 1 Orfq/q +< qurp\nd + 10 *

33661 1 20 Shppfrhtu$frh hpptupu. I Odq/q +< qurp\nrd * 10 *

33691 250 I-urutuhnulpnuu 50rl!q/tl1, 2. Sdp +< un[wlt |f
L4 r*

33631 1 B0
Upbupfr unr-psur4frurqbL hpprupunr_p,
1Oilq/q +< qurp\nd * 10 t(



33671 1 30 llqhhhhrlFurilbh hh+p"plt h,]
1Otiq/rit, l tir +< tuilul * 10

15 f

J3091 236 €Lnnnqhptuilhtrh hh+nnplnFh4 +< uliut *

33661 1 1 9 rI h rn ur tlfr qn 1 (rf h ur ur rJh q, f tr tu ur plr nui ) +< urlul +
10

l:tFi61 1/.4 ttngbhh 
tb.bhF 20ltq/il1 +< rudul

33661 1 1 7
,F

20
9unnrlulunurh huhnr_\ +< up{ruh * 40 *

JJOV I ZU Q u ur{rulunurh nqhpnrFil +< uprltuh *
30.r+ | lcuu Uhnr-2ru+Fh uulhpm 10% +< uprltutl * 50335q1 1 q? I-h+nqur:htr + hulhbhspht, +< urilul * 30 *

33671,729 LhtnFn$nlprul 20rlq +< 4hqurhurp * 50 *

33621 560 lyilh"lFl'L* 2hm"p1pp1r* q1,a
?.Silq+12.5dq +< 4hrplhurur + 1500

33621 s60 9yilhqphL* Zh+p"ppppf'* q1'4
Silq+12.5,1o +< rlhrltuhuur + 3000 {r

33621 560 {l*ilhurphL +Zit+prppnpp}rru qlra
1Otlq+12.510 +< rlhrlurhtuur )F

4500 *

33621764
tl hpfrl-r4nqlrht+ hhlur q -,I1rA
2rfq+0.62s,to +< rlhrlurhruur * 1500

33621764
tI hpfrtr4nq pirL+ hh+ugi *,ih+
4dq+1.25tlq +< 4hrltuhturn r 3000

33621764
tl hpfrh4nqphL + htr+urq *,i1,a
Bilq+2.5,io . +< 4hrlurhurur + 3000 *

33621764 'tlhplrtr4nq IrhL+ htrq ru q *,i1rrl
1Oriq+2.5ilq +< qhrlurhtuur rF

3000 if

33621762 Uripn4|rqht + L.rqurpururh Silq+ gQ{O +< 4hrluhruur * 3000 *

33621762 Uilin4|rqhlr* Lnq*ptnurb 5riq+1 OOilq +< 4hrluhurtn x 3000 *

33621762 Udpn4frqhtr* L.rq*puuuh l Orlq+SQfq +< rlhrlurhurtn x 1500 lk

33621762 L ulnrlpulpu+ l_nguFtnurlr
10riq+100tfo +< 4hrltuhuur i( 3000 *

33621 460 tlhplrb4nqfrhl +Urfln+hulhl, 5rlq+ g1O +< 4hrlurhrurn * 3000

33621 460 |Sf Fhlrr""tphp +uil1n{rqirh
+< 4hrpuhruur * 3000 {r

33621 460 a hpf l-rqnq FhL + UtILntf h"i |rl,
10rlq+Stiq +< rlhrluhruur * 3000 Ir

33621 460
tl hplrh4nqlrhl + Uriln+"I ht,
10ilq+'lQdq +< 4hrlurhunn rF

4980

33621764
tl hpfrtr4nqlrht+ hh+ru qurtlfrrl
+Ud1n4|rqirh 4dq+'l,25tlq+g{q +< rlhrlurhruu * 4000 if

33621764
tl hplrtrqnq frhl+ htrrpu q *ilfrrl
+Urit n+hut hb Bilq+2. Silq+5riq +< 4hrpuhtuur * 4500 tt

33621764
rI hpfrh4nq lrhl+ hhrlur ulurilt 4+Urirnnhuhh BtIq+2.Sdq+1 OrIq

+< 4hrpuhurur * 5100 tt

33621720 trfrunqpnlnl +UilLn+hulhl, Sriq+ g1q +< 4hrluhurur )r
3000 *

33621720 trfrunqpnlnl +Urlln+hulhl, Sriq+,1 Q1O +< thrlurhr,urn * 3000 Yr

33621720 trfrunqpnlnl + Uriln$qhtr 1 Qilq+S{q +< 4hr1u:htuur
)r

2580 *



33621720

33621 550

33621 550

lly"*n"LL*ffi
1Otfq+'lQ1tq

Ounifqpfrl+Utflnrlhqht 2. Stlq+S{q
_I Lrrrrlh,,,-L- | TT a r

+< thrluhurtn *
2880 *

+<
4hqurqruur

* 1500
^ ^ uulrLr{lrlrl- L uln+lulllu crlo+5drr +< thrlurquur * 3000

33621 550

33621 550

33621 550

33621720

--

33621720

flunffrulpfrl+ Uil1nr1hqht, Srfq+ 1 6,10 +<
4hqurquur

*
3000

I }udFqfrhl+Utiln+hulhL 
1 0tlq+S{q

Ourdfrqplr,-*UU1ffi
+<

4hrlurqurur
* 3000 *

+<
qhqruqrurn

* 1500 t(

|lr urr u{lur LnL f ' rl EFF Ur}nulpFL
5ilq+$1o +< 4hrlurhuru + 3600 t*

I rr uu u{FIr LIIL f ' rr CpF Lt4nutplrl
5ilq+'19.1o
lh..------, -.;T--i-

+< rlhrluhurur *
3600 l(

33621720

33621720

33691 203

33691 203

Ilr ulr ullrrl LIrL'r' rr trFil u4nu{pfrl
10rlq+$dq +< 4hrpuhurur +

21.00
r-lr urt u{lurLnL f ' rI EFI1tr+nqpFl
1Orlq+1Q{q +< 4hrluhrur.n *

*

21.00 *

ll:yp I y t *Zh+p"pLnruhQli
100tlq+25ilo

-+_

I-^-----.(-

+< 4hrlurhunn 4200

3000

*

_\r]y 
Lul r u r tu u r 4ll4lrnp LnFIaIt ur qhrl

50tiq+ 12.5{o +< 4h4urhutn t;
It

JJOUUUOO 'If1mfuuqhil 60rlo
rIL', ^L,.. ^L- I na r

+< 4hrlurhurtn336nnnno
)i

1800 lr

3360nnnr
r lrlurlrLLrquu JUUcI

-

rtL" ^L..- ^L- f a aa r
+< 4hrluhruur ia 2400 t+

3360000c 4hrpuhurtn * r200
1800

tt

4hqruhruur t

33600000

?QAnnnnn

tt\./uurlrplrqpu Lnlonllp trhppfh | ^ryruoui' '-' l% up{uti ,t
30 Yr

33600nnn
,r ru u uurr4 ptuq nl ^ZUI]O

-

TI (
+< thrlurhuur :r 6000 | x

??671 1 ?q

.^ quurrrLf] lr LuqIrl +uuo

-

TT,f*-^----- ^n.
+< 4hrluhurur *

1,200 t(

33600000
u ul.l +< 4hrlurhtutn x 360 *

rruuruluLLlruun Cilo +< 4hrlurhrutn * 6033600000 u nurnEl nLUuruut 1 Orlcr +< 4hqtuhuln x 460

33671112
hqpuupnqfrnrtl
ppnilfr4+ghhnurhpnp
2 0dqq/ahrlur2ur|+ gO,iqqlaUqulurU

*

+< l(
4

33ii91 1gg .Fhrn ru h hlt t nhf t ) /., I +< 4hqurhutn
3367 1 124

33671124

ri
2000

snppuil|rgbb 3ilq/il1 ur\tru\tufuhLt hp +< uptlurtt * 24 It

irp u{pngLopuur gF U+ 4 hp urudhpuqnil
3ilq/rl+t ilo/dr

-

+< untlurti ,t
24 tt

33661 1 56
4.h,U",.",*trp[bqnpu,Ilrt 6 €G- 1 0,1q
uhbruLruBhlLhn +< untlrull

untlutt

+
L2 tt

33661 1 56
trplrdntrfrahl-t* OhL.tnL;L 2,iq. 6 €G
tubhruburBhrhhn q< x

24
33600000 hhnhnrrrnhrn,r,,r, [ 1 nnn, f +< 4hqurhurur33621767

Y
h^-rr-^-l-* . f-s--s

+ 1,200 *

33621767
- yrrqrrlrFlul urrurrulrulntutn 4ull n
flnttrrnnnx-ffi

+<
q<

4hqruhunn * 2000 tt
^ -1^.grrtrFtul LrrrLululrullrLuu_l ouuo 4hrpuhuu *

1,200

0



3362t740 Uilrn+hqhb +/h srlq q< 4hrluhuur * 65C *
33621740 Uiltnrlhuthb +/h 10riq +< 4hqtuhurur * 3300 *
33621420 Uurnnrl ruuurunnfrtr 2 Orlq +< 4hrlruhruur * 3000 rfi

33621390 Urjhn+rupntr +/h 200ilq +< 4h4ruhuur x 1200 *
33661121 Ughurtrtuurtrsht*fupnt q,rh 1 0 0rlq +< 4h4urhruur ,r

4500 x

33621710 Uurhtrnlnl r/h 50rlq +< 4hqurhuru * 150 rF

336217t0 Uuhtrnlnl r/h 100ilq +< 4h4urhurur * 50 ,r

336711,1,4 Udhbn$hdrLr ru {.u4. 2,4o/o S{4 q< uilu1nr-1u x 100 x

33621767

U g h urlr 1u ur fr g frltu ppnr_,
dtuqbhqfrnulfr hfr4populrrl
75[+l5.2fa

+<
4hrlurhunn

*

2880

rf,

33621720 trfrunqpnlnl ry'h Sdq +< 4hqruhruur )F

3600 *
33627720 trhunulfrnlnl 1Oilq +< 4hrlurhruu * 3000 t
33621380 'Ihqopuhtr r/h 250ri\q +< 4hRurhurtn ,f

1200 *
33631310 'IhliLnQhhurq p/"t 4/h 50dq +< 4hqruhuur + 360 *
3363 13 10 'Ih\LnShburh +nh4nr1 5% 50q +< qurp!nr-d rF

60 *

33 63 13 10 'I[\lnghhu:\ uilq . 21tlq /tl1 3tl1 +<
unlulnrlru

*
50

*

33691212
'Ifrnurffrtr hhuqhpfrafb a5Oilq+SOrlq
n/h +<

4h4urhunn
*

600
tft

33661136 thurqhqutl 5.iq +< 4hqurhruur )r
500 )f,

33661136 ]hruqhulurtl 10tiq +< rlh4uhuur * 500 +

33611170 lpnutu{hpfrtr 40riq +< rlhqurhuur x 250 *

33661153
'Ihpuruilhpruqnh 4rlq/rl1, 1il1 pntbnqp
trhptup!ilurh +<

uftqnr-1ru
*

15
*

33621520 hhruturqpfrL r/h 20rlq +< thrluhurur * 2400 *
33621760 htlutruulnhl 5rlq +< hqruhruur )F

150 *
33621,520 hlrurturqnbyl0 [q +< 4hrpuhurur * 1200 *

33621520
htru gurqptrl, hh4prplnpnpfrurqlrrl
lOilq+l$1q +<

4hq ruhunn
rr

2400
)fi

33661156
fdfnlnlnl ur \htu \tufuhLtrhn 0, 5 % 5 il1 +<

unrlrub
*

30
*

33631290 hpnr-rqFn$hh  OOilq +< 4hqurhuur * 240 ,i

33691260 Lurtlnurplrphtr r/h 200riq +< 4h4urhurr.n * 400 ,f

33691203 Lnqurpunutr p/ut r/h 25riq +< 4h4ruhuur x
1,40 *

33691203 LnqruFtnruh p/ul ryh 50rJq +< 4hqurhruur ,r
1400 *

33691203 Lnqrufnnurh fu/q dh 100ilq +< 4hqruhurur x 4200 *
33642230 Ltrnfofrfropuf,h t/h 1 00il!q +< 4hqruhurur x 200 )F

33661137 Lnpurqhuiluil 1ilq +< 4hrlurhurur * 730 :fi

33661,137 I-nnurqhqruil 2rig +< 4hnruhunn * 100 ,i

33691250 Lur.nurhnulpnuur 50ri\q/rip, 2. 5tl1 +< hurur )F

20 )r

33661133 Lhnrlnqru h*pph+rqu 250rlq+25ilq +<
4hRruhuru

*
2000

*

33621690 qupqh+htnp 12.5 rlq +< 4h4urhurur * 1600 *
33621690 quptlh+hLnt 25 ilq +< +hquhurur * 3000 *
33621690 Vurpqhrlhtnt 6,25ttq +< 4hqruhruur * 200 *
33621510 QruuilnnulphL dh 25ilq +< 4b4ruhruur * 100 *
33621510 9urulurnqplty 50tlq +< 4h4uhruur * 1600 +



33600000 !1"!*qhulurti 2rlq +< nhRurhuru * 7r70 ,i

33691231
Qrup[nni fu n1h\urph$hp"L bunihlnr_
r/h 500ilq/400uu +< 4hrlurhurur t 1500 ,r

33631300 trhurnqpn$hh dq 50tlq +< 4h4urhuur + 600 *
33621L40 !11qf'+"qpht dh 0,075q +< +hRruhurr.n * 600 *
33621580 lh+Frplnpfahtuqh+ r1/h 2 Silq +< 4h4uhuur )F 400 *
33661139 Zrupqhph+.tt 5tlq +< 4h4urhurur )fi 730 *
33621700 Llhurnulpnlnl r1/h 25ilq +< 4h4ruhruur rfi 460 *
3363 1100 Uir\nhurqnl trppupunr_p 2% 15q +< qup!nr-d + 10 *

33642220 UhfulrL"t ph4bfrqnpb 4 [ q +< 4h4ruhruur rr 2400 *
3362t700 9!*rutpn1n1 50tiq +< 4hquhunn x 100 {(

24611J50 Lfrnpnqfirghplrtr ry'h 0, Srlq +< 4hrluhrurn x 100 *
33621750 uh$h+l'"ilrtr a/h p/q 1 Oriq +< 4h4urhurtn )r

150 x

33611150 1*!hph*ufrh-1 50 rlq 4/q +< 4hRruutuur * 2400 x

33642210 tphahfrqnlnh a/h srlq +< 4hquhurn * 500 *
33691186 'tlfrpughtnuni dul 400ilq +< 4b4urqrur.n ri 400 )r

33691186 'tllrfrur g hrnrutl B 0 0rlq +< 4hrpuhurr.n
rF

600 +

33671113

Uur6:nr-ururiln1 gnqru gbfi
1O0rIllq/+nqul 200 4nq

+<
unrlrub

x

50
x

33621.620 Uqfpntrnlur\urntr 2 Srlq r/h +< 4hrlruhruur + 4000 *

33621.620 Uqhpntrnpr\finh 50 rlq +< 4hrpuhurur + 150 ,fi

33621410 !lttltlwuqwLnhb 20tle +< nhRurhuur + 360 *
33621110 .ltup$tupl'tlu 2.5tlq +< 4hrltuhurur :r

50 *

33621110 .{urpSurplrtr r1/h silq +< 4h4uhurur * 150 +

33621730 '{!l*ol*,ihL Vh 40ilq +< 4hqruhuur * 200 )r

33691226 Sputftu4nL dq 50rlq +< 4hqruulrutn :1. 4000 )F

33691226
Sputftu4n1 lnr-bnr-1p hhpurp\ilruh
1lQtlq'-2.0,

+<
rur.iulnr-1ur

*
250

+

33691209 Surilunr-1nqb\:, 0.4[q +< 4hRuutruur * 1800 :r

33651134

Sh"lp"Slnpurugfrtr
ru\hru\ ufaht trhn 0, 3% 5rlt

+<
unrlruh

)r

10
+

33611100 Orihqptuqnl 20 dq +< 4hrpuulruur + L500 *

33621590 $nr-pnuh,Jl'l;1 a0tlq +< nhnurhuur * 560 ,k

33621 560
nudhqhphL+ Zfr+pnplnpplrurqfrrl
2.Srjq+12.Silq +< 4hrlurhuln *

50
l(

33621 560
ft udf qlrphL+ Zlr+pnppnppfrurqfr4
Srfq+12.Sdq +< 4hrlurhuu t

1500
*

33621 560
ft udfrqirphL + Zhlpnp lnppfrur qfr4
10rlq+12.Silq +< 4hrlurhtuur

)r

1500
*

33621764 'tI hpfrhpqphL+ hh+ur q utlfrrl
2ilq+Q,$/5,1o +< rlhrltuhutn *

300
*

33621764 'tI hpfrtr4nqphl+ hhr1uq urtlhrt
4riq+'1.25ttq +< 4hrlurhuru *

1800
rF

33621764
A hpirtr4nulpbl + hhryuululihr)
Briq+1.5il. +< 4hrlurhuur

:F

1800
*

33621764
tI hpfrtr4nul FhL+ hh4tuqurtlfr4
10rlq+1.$fq +< 4hrlurhuur *

2100
*

33621762 Uripn4frqhLt* L.rq*pnrutr Sriq+ gQ.1O +< 4hrpuhurur
*

900
*



33621762 Utfln4frqfrtr+ Lnqurptnurh Stfq+'l 00rfq +< 4trlurhurtn *
1500

t(

33621762 Utilnrl|rqfrh+ Lnqupururh l Oilq+SQfq +< 4h4uhunn *
100

*

33621762 Utfln4frqfrb+ Lnqurptnruh
10rlq+'l00dq +< 4hrlurhurtn *

1800
*

33621 460 'tlhpfrh4nulphl + Udpn4|rqfrtr 5rlq+ 5riO +< 4hrltuhurtn
,F

1500
,fi

33621 460
A hplrtr4nulFhl + Uriln4irqlrh
Sriq+10tlq +< 4hrluhrutn *

1200
x

33621 460 'D hpfrtr4nutFhl + Urfpn4frqfrl:
1 Oilq+${q +< 4hrluhuur *

2100
*

33621 460 'tl hpfrh4nqphl + UilLntf hulht,
lltiq+1Qr1q +< rlhrpuhuru :t

L200
r*

33621764
tl hpfrh4nqphi+ hh+ur q u1ifr4
+Udt n+hulht-r 4ilq+ 1 .25ilq+5dq +< 4hrlurhrurn

,F

1500
*

33621764
rI hpfrtrrlnq phL+ hh+ur q u1llr4
+Urit nnhq htr Bdq+2. SrIq+Silq

+< 4hrluhurur *
3200

*

33621764
rI hpfrtr4nqphl+ htrrlur qulfh+
+Utftn+hulhh Bilq+2.Silq+1 Oilq

+< rlhrlurhrur.n *
4200

r*

33621720 Ffrunqpnlnl + UilLntf hulhb 5tiq+ g1O +< rlhrltuhtuur x
1,200

*

33621720 3frunqpnlnl +UilLn+hqhl, Srfq+ 1 Q1O +< qhrlurhurur *
1800

*

33621720 trfrunqpnlnl +Utfln+hqhl, 1 0rlq+5{q +< rlhrpuhutn )F

1500
*

33621720 trfrunqpnlnl + Urfln+hqlrtr
1Oriq+1Q{q +< rlhrpuhu:rn +

900
i.

33621 550 ft unffrqplrL+Urlln4lr"lhl, 2. Stfq+ 5{q +<
4h4ruqurur

*
50

*

33621 550 Qg,Ilt"l fthl+ UilLn+hq htr Silq + $1q +< 4h4urulruur * 1500 rr

33621 550 Orudfrqpfrl+ Utflnrllrqht, Stlq +'l g,1O +<
4hrlurqunn

*
100

*

33621 550 Cunffrqphl+UtlLn4h"lhl, 1 Orlq+Sfq q<
4hqrurqurur

*
1500

)r

33621 550 ftutffrqphl+UilLn+lr"lhtt 1 Otiq+'l Qilq +<
4h4urqurur

*
L200

,t

33621720
tr|runqpnlnl + t hfrhh+.rqphL
Srfq+$1o +< 4hrlurhuur x

1800
,i

33621720
tr|runqpnlnl + t hphlr+r,qnhl
5ilq+10tfq

+< 4hrpuhrutn
*

2100
,r

33621720
trfrunq pnlni + t hphlrl.rotpht
lQtq+5rlq +< 4hrlurhunn *

1s00
*

33621720
trfrunqpnlnl +Qhpht +.,otplrL
10rjq+10{q +< 4hrluhtuur

)fi

100
*

33691 203 Lnqurptnruh+ Zh+pnplnFphuqh4
100tlq+2Silq +< 4hrluhuur )r

2100
)l.

33691 203 Lnqur pm u h + Zh+nnp Lnplahur qbrl
50ilq+'l2,5dq +< 4hrluhrutn *

1800
+

33600000 'Ihturhurqhri 9Ottq +< 1

4ERrUulutn * 900 rF

33600000 9lqhnhqlrh lorlq +< 4hrlurhruur
)r

50 x

33600000 'llurtrunq firu qnl 2 0riq +< 4hqtuhruur * 600 *

33600000 'thuhrnnqpulqnl 4OrIq +< 4hqurhruur
,F 240 )*

3367tt25 ud opunl 30rI +< 4hrlruhurtn * 230 x



33600000 Unhur hlnr_lj ru u tn Stlq +< | 4hqurhuru * 300

480

*

*
JJOUUUUO Unhurhlnr\uruur 1Otfq +< 4hrpuhuur *

3367 1 1 12

hqpturnpnqfrnr-ti
ppnrlfrq+$hhnurhpnl
2 0tI\q/ahrlu2ullr + g Orf \q/ahqulur +

+< hu:rn *

20

*

33691 1 89

33671124

r-rrurLunPutnnu z4uq

-

+< 4hqruhutn * 2000 *
Snpptutflrghtr 3rlq/il1 tu\hru\urfuhLlrhn +< un{u1l *

10
*

33671124 vp qlurg LUp u ur glr urI Epuuril hptuqnil
3ilq/rl+t da/ilt +< uprlurlt *

10
:r

33661 1 56 ^.1til",."1*trplrhqnptu.lh4 
6 €,Iq. 1 0,Iq

urhtruhurBhrhhn
ort-, r-r.L-i

+< un{uli ,F

10
*

33661 1 56
r lrlrurrulullru , rv ltLuilLnL zuq+o.610
urbtrtubruBhttrhn +< up{tu\ !F

10
*

33661L36
'Ifrurqhqruil pnr_bnr_3p

!!n*nllrluh Sriq/ilr, 2dr
+< rurlqnrltu *

100
)r

*

;
33621420 LArnnnu uutnlurn hlr 4or fn n /h +< 4hqruhruur * 72033621767 I rqnunnEhn rlnltnll hr nnrrrr n ?or I +< 4hrlurhuur * 300033621767 Lr .qrrurrlrF[t4 ununu[tnnruur 40da q< 4hrluhunn *

100 *
33621767 |qrrunpprr4 ununLlhurnutu 60rio q< 4hrltuhurur +

100 ,r
33611120 .DLuunln[14nu 4urlcl

-

+< 4hrlruhuru *
50 l(

33 14113 6 \tuphur;r $nrh G22
Tr..---9-----s < r

+< hurur *
33100000 24 +

I u.r uP lrurlrlLu|l) +< hrurn )r
90 ,{<

3367113 1 r_rrlrurulur4pu luuq +< 4hrltuhurtn x
50 *

*

;
*

3363 tt20 JtrppnuupFu uFFurPu. +< qurp!nr-d *
103363 1 180 unoul}n unlt burnhru ohlr +< qup!nr-d x

533627640 4n4nnqnnrnhqnh b rlcr/cr: 3n +< qurp!nr-d *
533661152 orrurlltugPqLFu 1 uuq/q, 3q +< q tup!nr_d *
5 +

0

Ophhplr 15-frl hn4riurbfr 6-nr1 riurufr hlrilurtr {pru


